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QUESTION 1

Which task describes adherence to compliance? 

A. Ensure security policies are being enforced 

B. Define access rights to users 

C. Assess the cloud provider\\'s capability to provide logs 

D. Assess assets with realistic valuations 

Correct Answer: A 

 

QUESTION 2

An e-card company uses the Cloud to enable chat services between its sales representatives and consumers. Holiday
periods create seasonal demand on IT resources. The e-card company wants to select a billing model that optimizes IT
resource costs. 

Which billing model should the company choose? 

A. Recurring 

B. User-based 

C. Pay-as-you-go 

D. Subscription 

Correct Answer: C 

 

QUESTION 3
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Which cloud service model is represented in the exhibit? 

A. Software as a Service 

B. Infrastructure as a Service 

C. Platform as a Service 

D. Database as a Service 

Correct Answer: B 

 

QUESTION 4

What is a key element of a cloud portal? 

A. Unified manager 

B. Element manager 

C. Orchestrator 

D. Management interface 

Correct Answer: C 

 

QUESTION 5

DEA-2TT3 Practice Test | DEA-2TT3 Study Guide | DEA-2TT3 Braindumps                                3 / 8

https://www.pass2lead.com/dea-2tt3.html
https://www.pass2lead.com/dea-2tt3.html
https://www.pass2lead.com/dea-2tt3.html


https://www.pass2lead.com/dea-2tt3.html
2023 Latest pass2lead DEA-2TT3 PDF and VCE dumps Download

What is an advantage of adopting a microservices strategy in an application development environment? 

A. All microservices of an application are always updated at the same time for maintaining consistency in the
application 

B. Every microservice can be deployed, upgraded, scaled, and restarted independent of other services in the
application 

C. Microservices are tightly coupled so it is easy to scale all the services at once to meet business demands 

D. Microservices provide the application platform to implement DevOps in the organization easily and at low cost 

Correct Answer: B 

 

QUESTION 6

DRAG DROP 

What is the correct sequence of steps involved in synchronous remote replication? 

Select and Place: 

Correct Answer: 
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QUESTION 7

What capability does an orchestration workflow provide? 

A. Helps administer the cloud infrastructure, such as adding resources to a resource pool, billing, and reporting 

B. Helps to consolidate all the IT resources in the cloud environment 

C. Enables the administrator to control the underlying physical infrastructure using a single unified management
console 

D. Creates an automated set of tasks to update the service catalog by cloud consumers without requiring manual
intervention 

Correct Answer: C 

 

QUESTION 8

What is a key benefit of using containers? 

A. Eliminates any long-term commitments to a technology stack 

B. Helps speed up software release cycles and improve software quality 

C. Enables services to be delivered in hour or days, not weeks 

D. Provides better probability without requiring code changes 

Correct Answer: B 

 

QUESTION 9
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A service is offered to consumers from 9 A.M. to 5 P.M., Monday through Friday. The service experiences downtime
from 3 P.M. to 5 P.M. on Wednesday of a given week. 

What is the service availability for that week? 

A. 95.00% 

B. 95.88% 

C. 96.42% 

D. 98.33% 

Correct Answer: A 

 

QUESTION 10

The incident management team is unable to determine the root cause of an incident. To which team should the error-
correction activity be transferred? 

A. Performance Management 

B. Change Management 

C. Availability Management 

D. Problem Management 

Correct Answer: D 

 

QUESTION 11

Which Dell EMC product provides a converged infrastructure solution? 

A. XC Series Appliance 

B. VxBlock 

C. VxRail Appliance 

D. XtremIO 

Correct Answer: C 

 

QUESTION 12

An organization requires double the processing capacity for a specific duration to handle increased workload. For the
remaining period, the organization might want to release the idle resources to save costs. The workload variations may
be 

seasonal or transient. 
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Which cloud characteristics enables the consumer to handle such variations in workloads and IT resource
requirements? 

A. Rapid elasticity 

B. Resource pooling 

C. Measured service 

D. On-demand self-service 

Correct Answer: A 

 

QUESTION 13

What is the function of a monitoring and alerting tool? 

A. Focus on examining the usage of resources by customers and service providers and provide notification to optimize
and manage workloads 

B. Control charges for cloud usage by optimizing cloud resource utilization 

C. Automate tasks and IT processes and manage the IT environment 

D. Enable people to work closely together on a common project, in real time, by making communication among them
easier 

Correct Answer: A 

 

QUESTION 14

A compute system is configured to access files from a network-attached storage system. What is a characteristic of the
file system? 

A. Managed by the object-based storage device node 

B. Managed by the compute system 

C. Managed by the storage system 

D. Part of the storage area network 

Correct Answer: A 

 

QUESTION 15

DRAG DROP 

Match each service management phase with its process. 

Select and Place: 
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Correct Answer: 
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